
�
�
�
�
�
�
�
�

� �������� ���� �	
������
�������� ����
� 	����	

��� ������������	������	
�� 	������ ��	���	������� � �� � ����	��	���

��������	
���
���������
�����������
�
�
�
�
�
�
�

��������	�
������
�


�
��	�� ����	��������� �
� �������	��
��������	��	�� �

��	��������
��	����� ��	�������
�� 
���	�����
� !"�# $����	%�&�'	����
( 	��
���
��) ( ��***!"�

�
+!�$,,�$ ,--�

�
.����	�"/ �� �$����

�
�
�
�
�
�

( ������"-��*!!-�
�
�
�
�

mailto:jcochra1@gmu.edu


� ���
��
��������
��� ������� 

���� �����
���� *�

� �������� ���� �	
������
�������� ����
� 	����	

��� ������������	������	
�� 	������ ��	���	������� � �� � ����	��	���

��������	�
�����0�
�
�

����� �
���� ����
���
��������������
��������������
�����
������� ���������
��
�� ���� �� ���
 ��������
�
�
������
�!

�������
��"
������
����!������
�����

�#�������

�"
�������!!�
!��� 
�
���� 
����
�!��� �
���
������������
�����
�������

�
1�����
�� �����
�

�
�
2��� � �������	�� 
������� �	��	�� � 3� 
�4� �%� ���� ��	������ ��
��	� ��� � ��	��� ����
�
� 
���	�������������������������
��
��5
�� �������%������� 6�����%�	��������
��
��������$�
( �� 6�	�� �%� ���� � �����
�� � 
�� ��
������ ��	�%��� �
�� �
��6�
��
�� �
������� �� 6����
��
��
��� 6�	�	�����
�� ���������	���6�����������	���� �5�
��6������%	�� �����6�	�6��������%�
���� 6�7���� �
��	���$� � 2����� ����� �
������� �%� ���� � ���� ���������
� 
��� $%��
���� ���� �

���&
�
'�$�&
(�  
����
���� �������)��� ��
��
���
�� �
����� * ��
��)
����� ' ���*(� ��
��
��� ����� 
���
	�6	���
�� ���� ���� �� �%� �
�� 6�	������	� �%%������ 6�	��� �	� �6������ �
��	���� �	��6�� 7��� ���
�����
��������������������%%�����%��������
��	���
����	������
��� �	�� ��%�	�$�
�
2���� �
������� �%� ���� ��		�
�� 
8�� ���
��	�1� ����� ����7������� # ����
����� � ����
�9���

����������� � ���
�� : 	��
�9����
�16	�������� ��� ���� ������ ���������� %	�� � �
� ���
�� ���
6�	�6������$��( 
����
�� ���6�	�6��������� 6����������������
��������
����
���������
�������
��� � �
�� ��$� ���
�� ����	�� ����� ��	����� %�	
������ ������ �
�������� � ����� �	�� 6�	�� �%� ����
6�7����	���	�;���� ���	����� 6�	������������������
�� ����
�����������7��
���
������$�

� �������������

��		�
�����
�	�����������������
"��
������ 
�����
������< ������%�� �6	���
�����������5�����
��		������",+-�	���
��7������� $
$�
���	�������
��8&���
������ � �����
��� ���������7�������
�� 6�	6�	���� ���6���� �
� ���� �	����� 	���
��� ��	������ �
����	�� ��	����� ���� 
8�=��
�����
����
��># ����
������ ����
�9����	������ ���
��: 	��
�9����
�$?���2�	���������	�����%�
��7��@��
��	��������
��3��������
�����6�����	�@��	�� �
���%�	�7	�5�	A�����	����
����� �
��
@����������
��	���%�	�� ������%�
�����
������
4������# � 
� : ������
����
�������� ����������
���	����������%����
�%���
����
������
�����
���
����	�$���
�
� ���
��������� �	�������� �����
�� �	���
���	��
�9����
�������7��
���� ��������
�����%����
����
8�=��",+-�	���
���66��	�����	���	�����
�	�$*���%�����# � 
� : ������
����
��6�	����������

                                                 
0�
�
��	�� ����	��������� ��
������ �������	��
��������	��	�� ����	��������
��	����� ��	�������
�
� 
���	������( 	��
���
��) �	��
��$���2������� ���&6	�������
������6�6�	����
���	�6	���
���
��%%������6������
��%�
� ��	�������
�� 
���	����$�

"���������
�����+������, ������������!�+����!�-../��< � �*,,!���
�	���������
��*!��*!!-��7���	$����96��	��5��%�
��

�����
��$���

*� ��		�
����� �
��� %���� �	����� 	���
�� ���
����� ����� ���� 
8�=�� # � 
� : � �����
����
B� ������=��� 
��
��	�� C �
���	=��3���������
��%�2������ 	�� D< ������� 6�
���4���������
����'�� �
��
�E�
��� ���
��
�	������3��
���4��
�
��( $�$�E���$� ���	�� �
�����	����
��������=���
��
��
��	��C ����	=�����������# � 
� : ������
����
���
��



� ���
��
��������
��� ������� 

���� �����
���� ��

7�		��	�����
�	��3�	����
����
��%%����������6�����	������6���4�����
������������������������
���
�� 6	�
�� �
� ���� ��� 6�
���� � ��� %�	
���� �	����� 	���
��� ��	������ �
��	� ���� # � 
� : �
���
��	�$��: 
��������������%�	��&�� 6���������6	������	�������
���
�����@��
������%���	������
��66����� ��� ���� �
����	�� 3��� ��� 6�	��� ��� ���� ������ �� �
��	� %���� ��� 6������
� � ��	��
7�		��	������
�	���	��� �
�� ��4��� ��������	������������
��� 7�
��%�	� ��3�$�$�������������
��
����# � 
� : ������
����
4���	
���6�	D
�	� ���6	�%���$��2����6�6�	����������B�

�4 � �����	��������6�������	����	�9����
����6�����7��;��

74 �����%%������%��7�		��	������
�	���
��6����7�����		�����������	���;��
��

�4 ���� �����&��
��< � �*,,!�	����������������������
��%���$�
�
( %��	� ����� �
�	�������
�� �� 7	��%� �
�� ��� 6��� �&��	���
� �
��� ���� ���
�� ��� ����	�� �%�
� �
�6���� %����� �$� � 2���� 
������	�� ���6� ����� ���� %��
�����
� %�	� ���� 	�� ��
��	� �%� ����
�
������$� � F �� �66�����������	�������%��
�����
� ��� ���� ��	�����%�	� ���
� ���� �	�����	���
��
�
����	��� ���5�
�� %�	� ��������� ���
�� �%� � �
�6���� ���
�� 6�7������ ������7��� %�
�
����� ����$���
( ��� ��� �������������%�
�
����������
����������������������6���A�����6����� ����&���$��F ����
���
�� ��� �%%����
��� ��� �� ���
��	��� ��� �� 7����� ���������
�� %����� � %�	� �� 6	���
�� ����
�
����	�$� � ��
������ ���� �
������� ��
������� � ���� ��� �� 7	��%� ��� � �
��� �
� ��� � � ���� < � �
*,,!�����������
����	����
���������
�� �������������
��%���$����

  !������

( �� ���� �������� ��� ��� �� 6�	��
�� ��� 	������ ����� ���� � �
�6������ %����� �� ���� 6	�%���
� �&�� �9����
� ��
�����
� ����� ��	� ���
��	6�	��� ��� �
� ���� ��� 6���������� �	��
�9���
�
����	���$��2������������� �
�6���������5��������� 6��������%�	� ����
��
����6	�����
��3�����
���� 5��6�� ����
�� ��� ��	� 6	�������
� ������ 7�� �
�	����
�� ���6��4�� �
���� ���� �
�	������
	���
��� %	�� � �����	� ���6��� .���� �%%����� ��	� �
�	������ �����1����� ���� �
���� � �	��
���
	���
���3�� 4��@������ �	��
��������3��4$�� �2����	��������%%�	�
���%�	������ �
�6���������
����� �
������ �%� 7��
�� �� 6	���� ��5�	�� ���� ��� �� 6	���� �����	;� ����� ���� ���� %����� ���� �
��	��
�
����	�� ��� �
�� ��	��� 	����	� ���
� .���� �� �� ���� 6�	���
� �%� ��� ��
���� 7�� ��%�
����
�� ����
� �
�6��������������
�����66���	$ �

                                                                                                                                                 
���
�������������� ��%�	� ��	�6�	������������������7����%��	D%�%�����%������ �	5���%�	��	�����	���
����	�����$��
: ��	��������	�������	�%�	� �������7��
������
�����# � 
� : ���7��������� �	�����	�����	� ������%������� �	5��$��

��� ���� 
8�=�� ��
��6�� � �������� >� ���
�� ( ��
����� �
�� ���� � ��� �%� �	����� � ���
��� �
��	� ���� ����	���

���	������G�� ��?���6��������
�����$������6BAA� � � $���$���A	����A��
��6�A��DH*�I$��� ��

�� : %� ���	���� ���
�� ��� �%%����
��� ��� 
��� ���� �
��� �	� 6�	��6�� ���
� � ���� �� 6�	��
�� �	���	��
� %�	� � �5�
�� ��
6�������������
$�������������
�����������
��	
��� ������
��	������ �������
����	����
���%��@������%�	��&�� 6��$��
< �� ���	��� ��������������
�� ����	���	����� ��	��5�� �5�
������������	��������
���
�������D�
%�	� ���7����$���

 �( ����������������	�������6�	���%�������
������������������	� �>� �
�6����?������
��������
��	����������
���
���
����66	����7����%������
����	������	��
�9������
�����6���������	������6����������
��$��2�������%���%%�	�
���
��������� ����� �	�����
��
����66���	�3�
����6�������	���	���� ����
���
������6�������	���	��� �	�����
��� �4��
����� ��66���	� %����� �
��� �� 6�	�� �%� ���� ������ �
����	�� ��� �
�� ��	��$� � 2��� �� 6�	��
�� ��� ���	������ 	�� ��
��
��� ���	;�
�� ���������������%�	� ���
��
%���
���� �	5�����
�����
��37��������%�	���	��������� 6������
4���
��
��
�����	�%�	�����	
����
�� ���6	�%����3	�
��4$��



� ���
��
��������
��� ������� 

���� �����
����  �

"��������
+��0���
����"����1
�����
����$�����
���$����� ���	��!��
��

�
�
�
�����	��"�����6��
��( ��� �	��
���	���
����@������ �	��
�������$-��2	���
����� 
�%	�� �( ����
���� &D�&��� ������ ��� ���� � ���� 6	�%���7��� @��
����� �%� ������ 3J�4� %�	� ���� � �
�6������ ���
6	�����$� � 
�� ���	���� �	���
�� �6� �	�� %	�� � ( � ��� ���� ��� �
�� ��	��� 36��
���4� �
�� ���
�
��	������������D�&�����������������6	����3��4����� ����������� ���D6	�%���7���@��
����������$�
: 
���� 6�	��
��6��
��	�� ��
�;��������������6��
��� ��	��J���	�������������	�����������	���
3(�4����6��
���$��2	���
����%�� �	��%	�� �����������D�&�������������������	�����
���������%�
6	�����
�� J0� 3�	�� ��4$� � � 2����� ��	� ������ ������ �%� 6	�������
� �	�� ����	�7��� 7�� ����

	����
�����!���J��3�	������7	���������7�����×�J�4$���
�


�� ���	���� ���� 	����
���� !���J�� 3�	� ��� ×� J�4� ������ ���� � �
�6�����=�� ������ 	���
��$���

�
��� 6	�%���� �	�� ���� ��%%�	�
��� 7��� ��
� �� %�	� =�������� 	���
���� �
�� ���� ������ ������� ����
� �
�6��������	
��6	�%����@������������������	����
����3������4$���( ������	��"�����	�� 
��
����� �
�6��������	
��� �������
�� ����������>���
�� ���6	�%���?��	�	�
��1���������	���	
��

                                                 
-��%������� �	������� 6���������
����	������	����	�9���7��� �
����66���	���������
���������%�	� �� �����%������
6�	%������ �������� 3%���4� ��� �
�� ��	��� ��� ���� 6	���� ����� ��		��6�
��� ��� ���� �
��	������
� �%���� �
�� (�$��
E������� ���� ��� 6�������� %�	� �� �	�� 6	���� ��5�	�� �
� ���� ��� 6�������� ������ ���� ��� �
�� ��	��� �
�� � �	��
���
	���
����	�����
�����$��2��������
����66���	=�������
���
��%%��������� �	5���6	�����
�����6�	%��������� 6��������
� �	��$��� ���
�%	����
�	���
���&�����
������� 6�����	��������7����������� 6���������������
��������� 6�����	�����
�
��	��� �����6	���
��7���� �������� 6���������������
������������$� �( ������
�����
����
�@��
�����7���
���
��
��66���	����
��������	���
���7���
��� ��
���@�����������6�	��
���6	����3�4$� �2������K�� ��
�����6�	%������
��� 6������������$���

#�

���

���

$�J��

'�

% � �

% � �

(��

•���( �

��

•�

•������
�# ��

$����� ���	��!��
�

!�



� ���
��
��������
��� ������� 

���� �����
���� -�

�&�����
�� � ���� ��� ���
�� ������� 
������	�� ��� 5��6� ���� %����	�� �%� 6	�������
� 3��6������
��7�	���
����
�4��� 6�������
�������
����	���
�������%��
�����	
�������� 6���� �
��$���

& � ''
����! ������

�	�6�	��� �6��5�
��� ���� �	����� 	���
��� �
����	�� �
��	� ���� # � 
� : � �����
����
� ��� 
��� ��
� �
�6���� ��
��� ���	�� ��� � �	�� ���
� �
�� ��66���	$� � < �� ���	�� ��� �66��	�� ��� ���	��
���	����	��������%������6�����	������6�����
�������������
�	�������	�������%	�� �� �	5�������
�66������ �
�����
�� ���� �7��	�����
� ����� �
����	���� ���	����	�9��� 7�� 7�		��	�� ��� �
�	��
3���������
������6���4���
�������	
�	�
�����	����
�� ���6	�%���$I���
�
2������������ �����	�������� �
�
���	�����	���
�����
�������	
����
�� ���6	�%�������
����	�
���� ����� 6	���
���� �
� ����	�� *�� � ����� 6����� ��&� ���	�� � �	��� �%� 	���	
� �
� ������� ����$+���
����	�� *� ����� ���� �� ���� 	���	
�� �
� ������� %�	� �� �� 	���������� ��� ���	� %�	� �� �
������ �
�
6�7�����
���
���
%�	� ����
�����	�7����
�3'�� D��
����
������F ����
���
��������$4����
� �������%���	���%�	�� $
$�� �
�%����	�
�����6	������6��
����%���� 6�	���
$H���
�

�
��� *!!!�� �����=�� �
�� 
��
��	�� C � ���	=�� ����� ��	
��� ���	���� �

���� 	���	
�� �
�
������� �%� �+L � �
�� �,L � 	��6��������� ���	� ���� ��&D���	� 6�	���$� � 2���� ��� 6�	��� ��� ����
���	����	���	
��
�����������	�������� ��6�	������	
���7��� $
$�� �
�%����	�
��%�	� ���%������
���
�-L �6�	����	���
��%�	�'�� D��
����
������F ����
���
��������� 6�
���%�"!L ��
��IL �
	��6��������$,�
�
: ��	��������� ��6�	�����	���
���	���
����%	�� ������=���
�����	�
�	������3��
4��������
"!�
��
�	�7������
����	�����%�� �	�����
�H!L ��%�����6�	�
����� 6�
�=��	���
�����	��� �3����
	�� ��
��	� ��� �
�� %	�� � �
����� �
�� 	����	��� �
�� �	����� ��
�����
�� ��	�����4�� �
�� ����
	���
��� ��	�� �%� ������
� �������
� ��
�	�7����� 
��	��� ���� �%� ���� %�	� =�� �6�	���
�� �
��� �$��
� ��������%���� 	�� D< ���=����
�
�����
�	�������������
""��	����� ���	��%�������	�� ����$��
C ��

                                                 
I� ( �������� �����	D���
D��� 6�������� 6	����� �
�� ��7D�6��� ��� @��
������� �	�� %����	��� �%� � �
�6��������
�
����	����� ����� �	�� ��%%������ ��� �7��	��� �
� 6	������� � ������� ���� 	�%�	�
��� 6��
�� �%� 6	����� �
�� @��
�������
%	�� ������ ���	�7������ 6���������
����	�$�����	����	��6	����
����
���7������������
���	���	��
��%�� �
�6����
�	� �� 6�	%���� ��� 6������
� ��
��� � �
�� %�	� �� ����� �� � ����	�� �%� ����	����
� �
� ����	� �
�
�� 6	����$� � ( 
�
����	
������ �	���	��
�� ���	�%�	��� %�	� �������
�� � �
�6���� �	� �����6���� ��� � �����	� �� %�	� � 3�	� %�	� �4�
��
�����
������	
���7���D
�	� ���6	�%���16	�%����������
���� �	����� 6��������� �	5���� �����7����� 6�����
�� ���7��
�� ��
�	�
��$���

+�2���	�� ��
�
����� 6�����	��������� �������	����%��������	�����	�����	���
����	�������
����	�$���

H�2���������
�����	��*�7���
��
�*!!!��7������������=��� ����6�
��%%�%	�� �'�
�C �E	����	������������	$���
�
�������
�� 	���	
�� �
� �������� 	����	� ���
� 	���	
�� �
� �@������ �	�� ����� 7������� �����=�� ���� 
��������
���	��� 
�	�=��@�����%�	������ �����%�����6�	�����&��6��*!! $��� ���	
��
��@������
��	���	
��
�������%���	���
�	����
5����
��
���������	���������%�	� =������	����	����$��
�������	��*�%�	���������	���$���

,� '�� D��
��� �
�� ���� F ����
���
� ����� � �	�� �����
� ��� �
%�	� ����
� �
�� 6�7�����
�� %�	� �� �6�	���
�� �
�
��� 6���������
��	�
� �
��$��F ������	������
���6	�
��6�7�����
��� ���7���
��
����	���
������
�������	����������
�������%�
�
�����6�	%�	� �
����%��������� ��%�	� ���%%�	����� �������
�������
����������
������
$� ���	����	��
����	�6�	%�	� �
�����	����	�������
�����
��� ��������	���� 6���������
����	���$�

"!� �����=�� �
�����	� 
�	������ �������
� 6	������� �	����� 	���
��� ��	������ ��� � ���� ��� �
����� �
�� 	����	��$��
� ���
����
���6�	���
���
��� �������7���������
���5�
�%	�� �������� 6�
�=��"!DM ��
��"!DJ�	�6�	��$��

""�>2�����
�
�����
�	���������� �
���6�	������
��	�����
��
��	��C ����	=��7	�
������
��	�6�	��
���
����
��
6	��������	�����	���
�������������
���	��������
���
������� ���7������
���	6�	����
���%�
�
������
��������
���



� ���
��
��������
��� ������� 

���� �����
���� I�

��
�	�7�����	������������	���%�����6�	�
�=�����	�����

����	���
�����
��� �	�����
�I!L ��%�
�����

�����6�	���
��6	�%������	�������&D���	�6�	���$���
��	����
���������	���
���
�	������
�
# � 
� : ������
�����%�	� �����
������� ���������
����
������=���
��
C �=��6	�%���7�����$"*�
�

"������ �
��� �
�
�����������
����+ 

��
2�-...����-../�

Moody's

Dow-Jones

Washington Post

Avg. of US Mfg.

McGraw-Hill FSD 
(S&P)

0%

10%

20%

30%

40%

50%

2000 2001 2002 2003 2004 2005e

A
nn

ua
l N

et
 I

nc
om

e/
To

ta
l A

ss
et

s

�
�
# ����B���
�4 '�������	�������� 6�
��"!DM �����
����
��( 

����� �6�	������
��	������	�����	��������	�$��( ��	����� : ( �

�%�� $
$���
�%����	�
��%	�� ���
����E�	���N��3�
�������4��
���
���������32�7���"$!4����	��������	�$���

74 '�� D��
���	�6�	����
���������
�*!!!$���

�4 �����=�� 	���	
�� 7����� �
� ��
���������� 	������� 3�66�	���
�
�� 7����� �
� ��
�	�7����
�� �%� �
�����	�

�	������'������
��� �5���� : ( ���������������	4$���

�4 ��� 	�� D< ������
�
�����
�	������'������
�3
C �4�	�������6	�D	�����7������
�: 6�	���
��'������
�	�������
	�6�	�����
�%���
��������"!DM ��
��"!DJ$���
��	�����&6�
�����66�	���
���7������
�	�6�	������6	�������
�
�&6�
���;��
��� ����&����66�	���
���7������
��6�	���
����
�	�7����
��%���
�
�����
�	������'������
����
��
����������: 6�	���
���
��� �$���

�4 *!!-� ����� ����� 7����� �
� �

����9��� ���%D���	� 	������� 	�6�	���� �
� "!DJ�� �
�� %�	��� @��	��	� �%���
����
J�� �%�	�� $
$���
�%����	�	�$�

                                                                                                                                                 
����	���9����
��6	�.����%�
�
��
�����
����������������
������	���
�����	
� �
��$?��3�	�� �������� 	�� D< ����
*!!-�"!DM �	�6�	���6$�- 4$��'�����
��������	����
�	�7�����7��	���
�����	������� ���
���������7��$�

"*�'�� �
��
�7���� ���
�# � 
� : ��
���7	��	��*!!���
��( $�$�E�����
���	���*!!-$� �2��������
��� ����������
���� � %	�� � ������	� %����	��� �
�����
�� ���
�� ��� 	�������
$� � F ��5� � ��	����
�� ��� 6�	%�	� �
��� ���� ��
�
��5�������
�������� ����	���
��	�������
��
�����
�*!!*���
�����������
����
�����	��*�����	��%��	����������$���



� ���
��
��������
��� ������� 

���� �����
���� +�

�
�������� 6�	��
�������	����������������7��	�����
������	��
�������� �������� ���
����������
� ����7������ ���� ����������
$����	����	������������
���6	��������� �������
��������66�	��
���� �
%�	�
��� ����� 7�		��	�� ��� �
�	�� � ��� ����� 7��
� �%%������$� � 2����� ����� �	�� 
���� 7��
���� ����������
�������������
��$��# ���	����������������
��	���������������������3��� ��������
������	�4�6��
������	����
�������	�����
����������	����������;�
�� ����������7�		��	������
�	��
�
��������������� ����7���
��%%�������� ��
���%��
�	����
��6	�%���7������������� 6�	������� �	��
��� 6���������
����	���$���

( � ���
)���������������� � �� � ���	��	���� ��	����

2����6��	�6��������6�
����������������%	�� �
�� �����
=��6	�
��6������&���$����� ��
� 3" ���
��$4�� ���� ��&�7��5� ����� ���� �
�	������� � ���� �
��	�	�������� ��� ���
�� ���$� � < ���
������ �
�����5�
��
���
��&��� ��������# � 
� : ���������������������� ������7	�
�����
�� ���
�%%����
������������
����	��������	�� ��������
8�=���	��%����������
��	������7�		��	������
�	��
3�$�$�����	�� ��������# � 
� : ������
����
4$� �2���� ������	�����%�	� �	���������
�� �����7��
����6�
�����%������������6���
������
�	�
��$� �2�����66	�����	������
�����	����
����
������
� �����	�����	���
������	���	����6������������
�����	��� ����	����6�7����%���������
������
	��������@��������%������
%�	� ����
�������	��	������
�$�
�
< �� ���	�� ����� �� ���
��� ������ 6	���� ���	�6����� ��	�
�� ���� �	�
�����
� ��� ���� �
����	��
��.����� ��� �� ��%%�	�
�� � ���� �%� �6�	����
$� � ��	����	�� %	��� �
�	�� ������ �
����� ����D
��	�6������6	�����	����� �
��	$� � F ���������%�	����7.�����
���� 
�� ���7�� �	���3�����������
��	����
��%��������6�����
�6���������6�
����@������
4����������
���7.�����
��������������
��
�%��
������6�����������	���%��	�����	���
����	����
������ ��
����6������������
�����	��3�����
���6�
���
�%�
��� �
���	����
����� �
��7�
5�	����
������
4$���
�
�%����� ���	����
��	
��6�	�������6���������
���

�����
�� ��������D��6��������������	��������
��
��	
��������7�����	�������%�����
8��� �	������6�	�����
��
%�	� ����
�����	�
��������
�
7����%� �%� ���� ��	����� �	����� 	���
�� �	��
�9����
�� �
�� �	����� 	���
��� ���	�$� � 2���
����	�
�������� �������������������
�3�4�	���
����
��	���
�������	�����%������	�����	���
��
%�	� ����
��374�������
�	���� ������������������%�	� ����������		�������������
�	���
�$��: 
��
� ��������
�7���
��������	�
�������� �����7������@����9�������� ��
���%��
%�	� ����
������
7���������	���
��6	�����	���%��	�����	���
��$����
�
E��6	�����
��6�7������������7���������������	�
�������� �����������6�	���� 6������
��� �
��
�����	�����	���
��%�	� �$��( ���	�����
����� ���
�����%�	���
���� �����7���� ���
��� 6�	��
��
��� �
���
����
��� ���������%�	� ����������%%�	�
���������� ������1	����	����
�������		�
��
6	������� �%� ��%%�	�
������
� 7����� �
� �� ����	
� �
�D�66	����� �����
����
$� � 8@������ ���
�� 6�	��
���7������6������������
��
���������	���%��	�����	���
����������
�7�
�%���%	�� ���
�	����	��	�
�6�	�
����%��
�������
��7������%�	�	���
���	������������6�7������������7��������
�	����5��������
�����$�
�
F ���� 	��6���� ��� 	���
��� ����	����� %�	� �� ������� 7�� �
���	����� ��� 6	������ ����� %	�� �
� �����
����
����7�����������	������
�7����������7������ ���
�������� ���$���
�����	�� �	����
���� ����	�
������� ����� � ����� 
��� �
��� �
�� �	� � �����	� 	���
��� � �	�� 	����� �	� � 	�
��
�7������7�		�� �	=���	����� �	���
�����
���� ���7���������
����7���7���
�����
����� ���
����



� ���
��
��������
��� ������� 

���� �����
���� H�

�	���	�������������� ��������������� ����	����������������� �%�	��������
���� ���	�����	���
���
����� ����
�����	������
����6����������
���%����$�
�
��
�������
��	�������	�
��������������
���	�����	���
�����
������ �����
���7��	�@��	������
6�	����6���� �
����� ����� ������ ��� 	���� �	� 6�7����� �
%�	� ����
� �7���� � $
$� 2	����	�� �	�
%���	��� ���
��� �7�������
��� �	� ���� �
��	�� �
��� ����� �
� 6�7���� �	���� %�
��� �	� %���	���
6�
���
�6��
�$��� ���
���	��
�9����
��� ����6�������6�	����6�����
�����
8�=������	�
�������
� ����� 7�� ����
� # � 
� : � �����
����
�$� � ��	���	� �	��� ���� 
8�=�� ����	����
� ��� ��
��
# � 
� : � �����
����
�� � ����� 7�� ��� ����� ��� �
���
���� � ��	�� ��� ������ ��� �
��	���� 7���
%������	�%	������
���
��	�.�����
���%�# � 
� : ��������� �����7����7.���������������	����� ����
�����	������������	���� �
���	��������� �������$���

* #������	
��������+ ����, �  --.�

� ���
�����%�	����
���
��������
�����������
������ �� ���������< � �*,,!�6�	%�	� O������	����
����7������� ���@��	�������������	���%�����6	�7��� B� �
�� ���������	�� ������	�� ��������
��%�
�	��%������ 7�		��	�� ��� �
�	�� �
� ���� 6	������
� �%� �	����� 	���
�� ��	�����$� � 2��� 7���� �	���� ���
	������������������� ������� �����
8��	����
����
�7�����
��
������>	����
�9��?��
�# � 
� : �
���	������	�����
���
����������������������
��� ��������
����
��%�������	�
�������� �
���
���
��	���	$� � 2��� 7���� ����� �	���� ��� %�	������� 6����7��� ���
���� %�	� �7���� 7�� � �
����
�� �����
�	����� 	���
�� �	��
�9����
�� ����� ��� ������ �� ���	�� 	���
�� �&6�	��
��� 7�%�	�� 7��
��
�����
��������>	������	��?��	��
�9����
�$�
�
�
���� � �
����
�������� �
���
�����6	�6�����7�������� ����������������������� �
����	��
	�����	����
�� ���7��6	�7��� �������
��������
�������
���	���( � �
�� �
���	��
��$� ��	�� �
�
� ���
�� ��� 6�	�6�������� ����� �7��	�����
� ���� �� ��	��
���� �%� �
�� ���� �� �	����� 	���
���
��� ���	��� ��� ������ �6�
��
�� �
�� ����	� ���������
�� �%� %�
�
����� %��
���$� � < �� ���	�� ����
� �
����	��3���D�	D
����
�4��66	�������5�
����	�����	����
����� 7�
���� ��������%���������
���	�����
��6���
������
��%�������
����%�	����	��������
����	�����	�
�������� ������	�
������

8�� ���� � ���� ����	����
� ����� ������� �
� ��	
�� 7�� ����� ��� �	���� �	� � ��
���
� 7�		��	�� ���
�
�	�$�
�
�
��������
��� ����	��6������������D���	�� �
�� �� ���������	����������	������	���	����6�	��	����
�� �� �
� ��	� ���%� ��	��
�� ����� 	���
������
�����%	�� �6��	��
��;�7����@����������	����%����
���	���	����6�	��	������	��$��( �� �
�� �� ���	����������5�������
���
�������		�
��7��������� ��
����
��������	7��	�	�$��
��������	���������

���7������	� �
���7�����
�� ���� ��
����
�����
� ����	�����
�����	����
��	���%�	���������	� �
����
$���
���
����	�
����������
��	������� ���
7��� �������	�����������7��	�����
�������������	���%��	�����	���
����
%�	� ����
��	��6	�� �	����
3�%� 
��� �&���������4� ��6����������� �
�����	�$� � 2���� ��6����������
� �
� ��� 7�
����
� � ����
�	�
�6�	�
����6	�������6�	%�	� �
����
%�	� ����
������������� �	���
������	���������	� �
��
� ���������66���	���%��	���7���	���
����
%�	� ����
��	�$"����

                                                 
"�� : 
�� ������ ��%�� �
���	������ �
� ����� ������ �	� �
� ���� 7���� ��� � �����	� �	����� 	���
��� ������ ��� ����� ����� ��
6	�� �
�
��6������
��
���������	� �
����
��
�����������
��%�7�		�� �	�=��	����� �	���
������
���
�	�������	��
6�����$��2��7����	����	�����	���
������������������%��
%�	� ����
��
����
����� 7����7������� ��������������������
��O������������ 6�	��
�������������������� 6���"!!D���	����������������	������6�	�	�������%�
�
�����6	��������%�
����*"�����
��	�O�������
�������������
�� �	�������������%%������@������
���7��������5
�� ������� ��
������D
����
�@������
��������������%�	����
���	������������%��
������
��������� �	5���6�	����6�
����������7���������
�6�
�%�	������
�� �	$���



� ���
��
��������
��� ������� 

���� �����
���� ,�

/ � ���
������

( 	��%������7�		��	�� ��� ��� 6������
��
� ���� �	����� 	���
����
����	��3�������� ���� �
��%�
���
# � 
� : ������
����
4��������7��	�� ����$� � �2������������� �
�6����	�
����
�����
�� ���
�
�%%����
������������������7���$���
�
2���%�	����
���
��������������
��%������� ��� �����
�� ���������7�		��	��������7��	�� �����
�	� � ���������� �
�� ���� ��
����	��� ���� ����� 6��� 7�� < � � *,,!� ��� ��� ��$� � ( � ��
�%��� �%�
��� 6�	��������� �
�	���%������
�����7����� �	�����
��%����3��������� �
����	��	�����	����
�
�
�������	7��	�	���D���	�� ����
��6�	���4$���� 6�	��
���������������7��
�����������������	��
��%�����%	�� �����6�	�6��������%����
�� ����%%����
����
��� ���
���
������	����7����%�����
%	�� �����	�6�	�6�������$��2���7���=�����	�	���
����	����������������	���������		���������	�
��
��%���� ����� ������� 
���	� ����� �&������ �
� ���� %�	��� 6������ �
�� ��	���
��� ������� 
��� �����
7��
������ ������6�	�����%�	��!����	�$���
�


